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Part A: You may not use a calculator for this portion of the test

1) Evaluate each of the following
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2) Express each of the following expressions as a single logarithm
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3) Solve each of the following equations.  Don’t forget the restrictions! 
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4) Complete the table for the functions given below.
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	Function
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	Describe the transformations when compared to
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	Vertical asymptote(s)
	

	Horizontal asymptote(s)
	

	x-intercept
	

	y-intercept
	

	Domain
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	Sketch (of y)
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	Increasing or decreasing?
	


Part B: You may now use a calculator for the remainder of the test

5) Evaluate 
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.  Round to four decimal places.
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6) An office machine was purchased for $5200.  Its value each year is 80% of its value the preceding year.  Its value, V dollars after n years is given by the equation 
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Determine when the machine will be worth $1250.
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7) Heavy traffic has a sound level of 82 dB, while a whisper has a sound level of 21dB.  How many times louder (more intense) is the heavy traffic than a whisper?  Remember: 
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8) Solve 
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.  Round your answer to four decimal places.
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